Assembly Instructions

Step 1:

(1) Assemble part A and C, secure with
1-1/4” screws;

(2) Put 4 Plastic Inserts and 4 Rolling

Casters into each of the 4 legs as shown.

a) Two holes need to be
inward when assembling
Bottom Bars.
Step 2:
(1) Insert part J into holes provided in 4,
and connect with part B, G and I, then secure
with 1-1/4” screws. Note the(a)and(b) above.
(2) Assemble part E,F and M, and secure with
5/16” screws.

Step 3: ¢

(1) Assemble 4 seed—guards, and secure with S and V
as shown.

2 Insert part N, and secure with the butterfly
screws provided in part G.

3 Insert 2 Cup Holders, 2 Cups into position as

shown,

4 Assemble Top Perch with Sunk Screw as shown.

Note: if you want to replace the Top Perch from part G

sometime, then just release the sunk screws for

replacement.

(5) Slide in the Wire Grill and Metal Tray as shown.

(\m
~_ =
— G (Top Stand): 1 pc T K (Front and Back éii:ii;?z
B — Seed-Guard?: 2 gcs
A(Left and Right = _— . ) ~———————— :
Leg B(Bottom Bar): 2 D(Wire Sliding F (Short Ladder): |y (Top perch): 1 po I (Top Bar): 2 pes J (Side Frame) L (Left and Right M (Swing set): N (Toy Hook): 1 pc| O (Metal Tray):
Stand): 2 pcs | PCS 6rill): 1 pc |2 pes 2 pes : 2 pes Seed-Guard): 2 pes 1pc lpe
— b) Top Bars must be
@@ Rﬁgasﬁc U (1 1/4" Screw): installed with “Two holes
Insert): 4 14 pes facing down and one hole
P (Stainless Steel NSt % pes facing outward” as shown.
Cu : 2 CS S (5/16" Hex
P:2p “hiead screw)] v (Nut): 8 pes
22 pes
AN | {
Q (Sunk Screw) : T Roling W ( Allen
2 pos Caster): 4 pcs | Wrench): 1 pc

Step 4:
Assembly finished.

Now, your new stand is ready for use.




